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$�� 4-$��$%���$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��,
4�%%,--� 2��� ���6��4,%��(,�-� %,
�� �$
��� �$%���$�� �
��$(� %� �,

,�
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# "��������� ��  � !��,		 ���

�,� 3��4�
��� 3�(����, %� ��� ��,-$� %� <,�,--� #
$,0�4�'� $����.
0�-� �,��, 3��4��-�&���� ,�,--�$��� %,� �� 
��
�� �+++� 3�(5�4-� %��
4��%�3� , %� 4,%�3� 3��4�
��,$�� 4� ,8 0,��-� � %,-,$(���$, ��� 
$�0,
4�-��&���, %� 3$�4� � 3��4� %,��, %�(�44���� $�44,
��-, %� ��0, 3�(5�.
�,�-� %,� 3�$5� 3��4����$,�

�, 3�-�-, %�(�44����� 5$,4,�-�-, 5,$4����(,�-, %���� (,-�8 5��8
��� %,� 3��4�
��,$� 3�� �--� 4,5�$�-� 3��-,(5�$��,�(,�-, �3>��4�-� ��
5$�-�3���� %,��6,�-, �� %�-� �� (�

�� ����� 7���� %,-,$(���-� �6�5�.
-,4� %�44���-�$�� %,��6�$
��� ,�,--�0��

*,$�2�3�-�4� �6�5�-,4� %�43�5����-� %���6�$-� !�� 3�((� �� �,--,$� 	2�
�� �� %,� %,3$,-� �,
�4��-�0� �� �
�4-� ����� �� ���� �� 5$,2,--� %� 
$,.
0�4� 7� 5$�5�4-� �� 43��
��(,�-� %,� 3��4�
��� 3�(����, 4�5$�3�-�-�
%�45��,�%��,� �,� 3��-,(5�� 3�� 5$�00,%�(,�-� �� ��)�/��/ �1�
%,� �� (�

�� ����� �� 4�45,�4���,� 3�� �� 3��4,
�,�-, ��(��� %,�
3�((�44�$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��,�

	��4�%,$�-� 37, �,� 4�%%,--� ,�-, ��� 5��8 ,44,$, �44�3�$�-� ��
��$(��, 2��&����(,�-� %,
�� �$
��� , %,� 4,$0�&� ,44,�%� 0,��-�
(,�� �6��-,
$�-�8 4-$�--�$��, (���(� %,� 3��4�
��� 3�(����, 3�(5�-�.
1��, 3�� �� (��-,��(,�-� �� 0�-� %,��6�$
���� 4� $�-�,�, 37,� �,��� 45,.
3�,� $�3�$$��� 
�� ,4-$,(� 5,$ 2�$ ���
� �� 5$�5�4-� 43��
��(,�-��

�� ���$�� 5,$-��-�� %� 4�--�5�$$, ���� 2�$(� %,��� ��*� ����(�
�6���-� 437,(� %� %,3$,-� 3�� �� >���, 4� 5$�00,%, ���� 43��
��(,�-�
%,� 3��4�
��� 3�(����, %� ��� ��,-$� %� <,�,--� #
$,0�4�' ,% ����
��(��� %,� 3�((�44�$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��, �,���
5,$4��� %,��� %�--�$,44� ��1��� ��%�$��

��(�� �� ��
��� ����

& '������
 ��  3������
. �
����

����*>=#

��	��
� ��� ��������
� ����� ��������	�
�� ��
��� �����

.%���!��	��� 
	! %�����!�� %�����!	 
� -�	� � ���� 	
 	
������ 
	! %������� �� �� �� 
��� ��$

�� ��������
� ����� ��������	�

*�4-� 37, �� 3��4�
��� 3�(����, %� ��,-$� ��
�$,
#��0���'� $����0�-� �,��, 3��4��-�&���� ,�,--�$��� %,�
�� (�

�� ����� ,8 3�(5�4-� %�� 4��%�3� , %� 4,%�3�
(,(1$�=
	��4�%,$�-� 37, �,� 3�-�-� 3�(��,� � 3��4� %,��,

%�(�44���� 3��-,4-���� 5$,4,�-�-, 5,$4����(,�-, %�
��0, 3��4�
��,$�� ��� 5��8 ,44,$, �44�3�$�-� �� ��$(��,
2��&����(,�-� %,
�� �$
��� , %,� 4,$0�&�=
��-,��-�� 5,$-��-�� 37, $�3�$$��� 
�� ,4-$,(� 5,$ 2�$

���
� ���� 43��
��(,�-� %,��� 4�%%,--� $�55$,4,�-��&�=
*�4-� �6�$-� �!�� 3�((� �� �,--,$� 	2� �� �� %,� %,3$,-�

�,
�4��-�0� �� �
�4-� ����� �� ���=

����� 5$�5�4-� %,� ����4-$� %,��6��-,$��� �� 3�� $,��.
&���, ,8 ���,
�-� �� 5$,4,�-, %,3$,-� , �, 3�4-�-��43,
5�$-, ��-,
$��-,=

�,3$,-�?

�$-� ��

�� 3��4�
��� 3�(����, %� ��,-$� ��
�$, #��0���'� ,8
43���-��

�$-� ��

�� %�--�$ �
� 
��3,$ ,8 ��(���-� 3�((�44�$�� 4-$��$.
%���$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��, 4�%%,--�
2��� ���6��4,%��(,�-� %,
�� �$
��� �$%���$�� � ��$(� %�
�,

,�

�� 5$,%,--� 3�((�44�$�� 4��� 3��2,$�-� � 5�-,$� 45,-.
-��-� �� 3��4�
��� 3�(����,� ���� 
���-� ,% �� 4��%�3��

��-� � ��(�� �%%E8 �� ��
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# "��������� ��  � !��,		 ���

�,� 3��4�
��� 3�(����, %� ��,-$� ��
�$, #��0���'� $����0�-�
�,��, 3��4��-�&���E8 ,�,--�$��� %,� �� (�

�� ����� 3�(5�4-� %�� 4��.
%�3� , %� 4,%�3� 3��4�
��,$�� 4� ,8 0,��-� � %,-,$(���$, ��� 
$�0, 4�-��.
&���, %� 3$�4� � 3��4� %,��, %�(�44���� $�44,
��-, %� ��0, 3�(5��,�-�
%,� 3�$5� 3��4����$,�

�, 3�-�-, %�(�44����� 5$,4,�-�-, 5,$4����(,�-, %���� (,-�8 5��8
��� %,� 3��4�
��,$� 3�� �--� ���3� �3>��4�-� �� 5$�-�3���� %,��6,�-, ��
%�-� � 
��
�� ����� 7���� %,-,$(���-� �6�5�-,4� %�44���-�$�� %,��6�$.

��� ,�,--�0��

*,$�2�3�-�4� �6�5�-,4� %�43�5����-� %���6�$-� !�� 3�((� �� �,--,$� 	2�
�� �� %,� %,3$,-� �,
�4��-�0� �� �
�4-� ����� �� ���� �� 5$,2,--� %�
��0��� 7� 5$�5�4-� �� 43��
��(,�-� %,� 3��4�
��� 3�(����, 4�5$�3�.
-�-� %�45��,�%��,� �,� 3��-,(5�� 3�� 5$�00,%�(,�-� �� ���/����.
���� %,� � 
��
�� ����� �� 4�45,�4���,� 3�� �� 3��4,
�,�-, ��(���
%,� 3�((�44�$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��,�

	��4�%,$�-� 37, �,� 4�%%,--� ,�-, ��� 5��8 ,44,$, �44�3�$�-� ��
��$(��, 2��&����(,�-� %,
�� �$
��� , %,� 4,$0�&�� ,44,�%� 0,��-�
(,�� �6��-,
$�-�8 4-$�--�$��, (���(� %,� 3��4�
��� 3�(����, 3�(5�-�.
1��, 3�� �� (��-,��(,�-� �� 0�-� %,��6�$
���� 4� $�-�,�, 37,� �,��� 45,.
3�,� $�3�$$��� 
�� ,4-$,(� 5,$ 2�$ ���
� �� 5$�5�4-� 43��
��(,�-��

�� ���$�� 5,$-��-�� %� 4�--�5�$$, ���� 2�$(� %,��� ��*� ����(�
�6���-� 437,(� %� %,3$,-� 3�� �� >���, 4� 5$�00,%, ���� 43��
��(,�-�
%,� 3��4�
��� 3�(����, %� ��,-$� ��
�$, #��0���' ,% ���� ��(��� %,�
3�((�44�$�� 5,$ �� 5$�00�4�$�� 
,4-���, %,� 3�(��, �,��� 5,$4���
%,��� %�--�$ �
� 
��3,$�

��(�� �� ��
��� ����
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��	��
� ��� ��������
� ��� 	���� ��� ���
�����
�� ! ��
��� �����

� ��1	 ��	��� 
	� 2	�� 	 
	!!	  ��� �	 1����"�� �	
 ����	

�� ��	���!� 	 � ����""���'	 &	 !(	�	 %�"�� 
	!!	 1��"���� ��
���	 �� 
� & ��	"���	 %�'�!	 �!!�  	����	 .� 
	��� 	 ��!� 	���
!�%�!� 
	!!�  	����	$

�� ��������
�
��� 	���� ��� ��� �����
��

*�4-� �� �,

, �) (�$&� �++�� �� )+ , 4�33,44�0, (�%�.
2�3�&����� $,3��-, 9�,�,
� ��  �0,$�� 5,$ �� 3��2,$�.
(,�-� %� 2��&���� , 3�(5�-� ���, $,
���� ,% �
�� ,�-�
��3��� 5,$ �� $�2�$(� %,��� 5�11��3� �((���4-$�&���, ,
5,$ �� 4,(5��2�3�&���, �((���4-$�-�0�:=
*�4-� �� %,3$,-� �,
�4��-�0� �� (�$&� �++�� �� ���� ,

4�33,44�0, (�%�2�3�&����� $,3��-, 9	��2,$�(,�-� %�
2��&���� , 3�(5�-� �((���4-$�-�0� %,��� �-�-� ���,
$,
���� ,% �
�� ,�-� ��3��� �� �--��&���, %,� 3�5� � %,���
�,

, �) (�$&� �++�� �� )+:=
*�4-�� �� 5�$-�3���$,� �6�$-� �� %,� %,3$,-� �,
�4��-�0�

�� (�$&� �++�� �� ��� 37, 5$,0,%,? 9	�� �, (�%���-�8
5$,0�4-, %�� $�45,--�0� 4-�-�-� 4� 5$�00,%, � -$�42,$�$, ���,
$,
���� � 4-�-�-� 45,3���, , ���, 5$�0��3, ��-���(, %�

$,�-� , ���&���� �� >���-� ��� 4���� 
��8 �--$�1��-,� �,
2��&���� ,% � 3�(5�-� 3��2,$�-� %�� 5$,4,�-, %,3$,-� �,
�.
4��-�0� ���, $,
���� � 4-�-�-� �$%���$��:=
*�4-� �� %,3$,-� �,
�4��-�0� �� �5$��, ����� �� ��!�

$,3��-, 9��$(, %� �--��&���, %,��� 4-�-�-� 45,3���,
%,��� $,
���, ��$%,
�� 5,$ �� 3��2,$�(,�-� %� 2��&����
�((���4-$�-�0,� �� �--��&���, %,� 3�5� � %,��� �,

,
�� )+ %,� �++�:� ,% �� 5�$-�3���$, �6�$-� �� 3�((� �=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,� 	��4�
��� %,� ����.

4-$� %,� �� 4,--,(1$, ����� $,3��-, 9��%�0�%��&���, %,�
1,�� , %,��, $�4�$4, 2����&��$�,� �(��,� 4-$�(,�-��� ,
�$
���&&�-�0, %� -$�42,$�$, ���, $,
���� ,% �
�� ,�-� ��3���
5,$ �6,4,$3�&�� %,��, 2��&���� , %,� 3�(5�-� �((���4-$�.
-�0� %� 3�� ���6�$-� ��� %,� %,3$,-� �,
�4��-�0� �� (�$&�
�++�� �� ���� �� (�-,$�� %� 5$�-,&���, 3�0��,:=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,� 	��4�
��� %,� ����.

4-$� %,� �+ %�3,(1$, ���� $,3��-, 9	$�-,$� %� $�5�$-�.
&���, , $�5�$-�&���, -$� 
�� ,�-� ��3��� %,��, $�4�$4, 5,$
�6,4,$3�&�� %,��, 2��&���� 3��2,$�-, %�� %,3$,-� �,
�4��.
-�0� �� (�$&� �++�� �� ���� �� (�-,$�� %� 5$�-,&���,
3�0��,:=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,� 	��4�
��� %,� ����.

4-$� %,� �� %�3,(1$, ���� $,3��-, 9	$�-,$� %� $�5�$-�.
&���, , $�5�$-�&���, -$� 
�� ,�-� ��3��� %,��, $�4�$4, 5,$
�6,4,$3�&�� %,��, 2��&���� 3��2,$�-, %�� %,3$,-� �,
�4��.
-�0� �� (�$&� �++�� �� ���� �� (�-,$�� %� 5���&�� �((�.
��4-$�-�0�� �4-$�&���, 43���4-�3� , 5$�-,&���, 3�0��,:=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,� 	��4�
��� %,� ����.

4-$� �! %�3,(1$, ����� �� !!� $,3��-, 9��%�0�%��&���,
%,��, (�%���-�8 , %,��, 5$�3,%�$, 5,$ �� -$�42,$�(,�-�
%,� 5,$4����, �� 4,�4� %,��6�$-� �� 3�((� !� %,� %,3$,-�
�,
�4��-�0� �� (�$&� �++�� �� ���:=
*�4-� �6�33�$%� %,��� 	��2,$,�&� ���2�3�-� %,� �� 2,1.

1$��� ����� 3��3,$�,�-, �, (�%���-�8 %� -$�42,$�(,�-�
%,� 1,�� (�1��� 5,$ �6,4,$3�&�� %,��, 2��&���� �� (�-,$��
%� 5$�-,&���, 3�0��,=
�,�-�-� �� $,
���, ��$%,
�� , 
�� ,�-� ��3��� %,� 5$�.

5$�� �(1�-� -,$$�-�$���,=

�3>��4�-� �� %�-� �+ 
��
�� ���� �� 5�$,$, %,��� 	��.
2,$,�&� ���2�3�-� �-�-�� $,
����� 3�--�8 , ��-���(�, ��3���
%� 3�� �� %,3$,-� �,
�4��-�0� �� �
�4-� �++�� �� ���=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,� 	��4�
��� %,� ����.

4-$� %,� + �
�4-� ���� $,3��-, %,�,
� �� ����4-$� 5,$ 
��
�22�$� $,
������� ���6�$-� �� �,--,$� +2� 5,$ �6,��1�$�&���,
%� 5$�00,%�(,�-� %� ��-�$� ��$(�-�0� ,% �((���4-$�.
-�0� 3��3,$�,�-� �, $,
���� , �, 5$�0��3, ��-���(, %�

$,�-� , ���&���� ��37, 3�� $�
��$%� ���, ��$(, %�
�--��&���, %,
�� 4-�-�-�� , ���6�$-� �� �,--,$� �2� 5,$ ��
%,2���&���, %,��, ���&��-�0, ��,$,�-� ���6�--��&���, %,�
3�5� � %,��� �,

, �) (�$&� �++�� �� )+� , �
�� �%,(5�.
(,�-� �% ,44� 3��4,
�,�-�� 3�� 5�$-�3���$, $�2,$�(,�-�
�� %,3$,-� �,
�4��-�0� �� (�$&� �++�� �� ���� ���37,@ ��
(���-�$�

�� 4���� 4�� �--��&���,=

�,3$,-�?

�$-� ��

(
�+�������� �  � ����
��

�� ���� $,
���, ��$%,
��� �6,4,$3�&�� %,��, 2��&���� ,
%,� 3�(5�-� �� (�-,$�� %� 5$�-,&���, 3�0��, 3��2,$�-� %��
%,3$,-� �,
�4��-�0� �� �5$��, ����� �� ��!� �� $,��&���,
���, 2��&���� , �� 3�(5�-� %� 3�� �� %,3$,-� �,
�4��-�0�
�� (�$&� �++�� �� ���� 4��� -$�42,$�-�� � %,3�$$,$, %��
�F ��
��� ����� 4���� 1�4, %,� %,3$,-� %,� �$,4�%,�-, %,�
	��4�
��� %,� ����4-$� 3�-�-� �� 5$,(,44�� � 1,�� , �,
$�4�$4, 2����&��$�,� �(��, , 4-$�(,�-���� 3�(, >���-�2�.
3�-, , 45,3�2�3�-, �,
�� �$-�3��� 4�33,44�0�� ���37,@ �,
3���,44, $�4�$4, �$
���&&�-�0,�

�$-� ��

(
�+�������� �  � ��
5����

�� ���, 5$�0��3, %,��� ��$%,
��� 5,$ �6,4,$3�&�� %,��,
2��&���� , %,� 3�(5�-� �� (�-,$�� %� 5$�-,&���, 3�0��,
3��2,$�-� %�� %,3$,-� �,
�4��-�0� �� �5$��, ����� �� ��!�
�� $,��&���, ���, 2��&���� , �� 3�(5�-� %� 3�� �� %,3$,-�
�,
�4��-�0� �� (�$&� �++�� �� ���� 4��� -$�42,$�-�� �
%,3�$$,$, %�� �F ��
��� ����� 4���� 1�4, %,� %,3$,-� %,�
�$,4�%,�-, %,� 	��4�
��� %,� ����4-$� 3�-�-� �� 5$,(,44��
� 1,��� �, $�4�$4, �$
���&&�-�0, , 4-$�(,�-��� , �, $�4�$4,
2����&��$�,� %,��6�(5�$-� 3�(5�,44�0� ����� %�
� ���������) #�� ))���+����)' ������ 3�4E8 3�(, $�5�$-�-,
�,��6���,
�-� -�1,��� #�

�$-� ��

(
�+�������� �� �
�,��

�� 3�(��� %,��� ��$%,
��� 5,$ �6,4,$3�&�� %,��, 2��&����
, %,� 3�(5�-� �� (�-,$�� %� 5$�-,&���, 3�0��, 3��2,$�-� %��
%,3$,-� �,
�4��-�0� �� �5$��, ����� �� ��!� �� $,��&���, ���,
2��&���� , �� 3�(5�-� %� 3�� �� %,3$,-� �,
�4��-�0� �� (�$&�
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�4��-�0� �� (�$&� �����
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%�$��-, �, 5$�0, %� (���-�$�

�� ,22,--��-, %�� -,3��3�
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��,$,�-, ���, 4-$�--�$, %,� ��1�$�-�$�� (,%,4�(�=
�--,4� 37, �� 4�-��&���, ,(,$
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-�$��� 0��-, � 3��4,
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�� ����� $,
�4-$�-� ���� 	�$-, %,� 3��-� �� �� 
��.

�� ���� . ����4-,$� �4-�-�&������� �$,4�%,�&� %,� 	��4�.

��� %,� ����4-$�� $,
�4-$� �� �� 2�
��� �� �+� 3�� �� >���,
�6��� 5$�2�  ����� 
$,(��-� ,8 4-�-� ��(���-� ����4-$�
%,��6,3���(�� , %,��, 2����&,=

; �� ;
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*�4-� �� %,3$,-� %,� �$,4�%,�-, %,��� �,5�11��3� ! 2,1.
1$��� ����� $,
�4-$�-� ���� 	�$-, %,� 3��-� �� ) 2,11$���
���� . ����4-,$� �4-�-�&������� �$,4�%,�&� %,� 	��4�
���
%,�����4-$�� $,
�4-$� �� �� 2�
��� �� ���� 3�� �� >���, �6��� .
 ������
� ��
$� ,8 4-�-� ��(���-� ��--�4,
$,-�$�� %�
�-�-� 5$,44� �� ����4-,$� %,��6,3���(�� , %,��, 2����&,=
*�4-� �� %,3$,-� %,� ����4-$� %,��6,3���(�� , %,��,

2����&, �� (�$&� ����� 5�11��3�-� �,��� /������� 0++��
��� � %,� � (�

�� ����� 3��3,$�,�-, �, %,�,
7, 3��2,.
$�-, �� ��--�4,
$,-�$�� %� �-�-� ���  ������
� ��
$�=
��-,��-� �� �,3,44�-�8 %� ��-,
$�$, �, %,�,
7, 3��2,$�-,

�� 5$,%,--� ��--�4,
$,-�$�� %� �-�-�=

�,3$,-�?
�$-� ��

�� ���6�$-� � %,� %,3$,-� %,� ����4-$� %,��6,3���(�� ,
%,��, 2����&, �� (�$&� ����� 5�11��3�-� �,��� /�������
0++���� � %,� � (�

�� ����� 3��3,$�,�-, �, %,�,
7,
3��2,$�-, �� ��--�4,
$,-�$�� %� �-�-� ���  ������
�
��
$�� %�5� �� 3�((� �� ,8 ��4,$�-� �� 4,
�,�-,?
9�.	��� �6��� ��
$� 5�$-,3�5�� ����-$,� �� $�55$,4,�.

-��&� %,� ����4-$�� �% ��3��-$� 3���,44� �� 4,(,4-$, %�
�$,4�%,�&� �-������ %,� 	��4�
��� %,��6�����, ,�$�5,��:�
�� 5$,4,�-, %,3$,-� 4�$�8 -$�4(,44� �� 3�(5,-,�-�

�$
��� %� 3��-$���� 5,$ �� $,
�4-$�&���,�

��(�� �! 
��
�� ����
& '������
. �
�	���
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*�4-� �� %,3$,-� �,
�4��-�0� �� 
��
�� ����� �� ���
$,3��-, $,3,5�(,�-� %,��� %�$,--�0� ����/��/	�� %,�
��$��(,�-� ,�$�5,� , %,� 	��4�
��� $,��-�0� �� $�00�3���.
(,�-� %,��, �,
�4��&���� %,
�� �-�-� (,(1$� 3��3,$�,�-�
�6,-�37,--�-�$� , �� 5$,4,�-�&���, %,� 5$�%�--� ���(,�-�$��
���37,@ �� $,��-�0� 5�11��3�-�8 ,% �� 5�$-�3���$, �6�$-� + 37,
5$,0,%, 37, 3�� %,3$,-� %,� ����4-$� %,��, �--�0�-�8 5$�.
%�--�0,� %,� ����4-$� %,��, 5���-�37, �
$�3��, , 2�$,4-���� ,
%,� ����4-$� %,��� 4���-, ,8 4-�1���-� �� -,$(��, %� 43�%,�&�
%,� ��--, ���(,�-�$, 2$,43� %�0,$4� %�� ��--, �H
 , %��
��--, 4-,$���&&�-� � ���
� 3��4,$0�&���, 4���� 1�4, %,���
,0���&���, 43�,�-�2�3� , -,3����
�3�=

*�4-� �� %,3$,-� �,
�4��-�0� �� 
,����� �++�� �� ��+
$,3��-, �--��&���, %,��, %�$,--�0, �+/�+)/	�� , �+/
�+�/	�� 3��3,$�,�-� �6,-�37,--�-�$�� �� 5$,4,�-�&���,
, �� 5�11��3�-�8 %,� 5$�%�--� ���(,�-�$�=
*�4-� �� �,

, � (�

�� �+�+� �� ��+ $,3��-, �� %�43�.

5���� %,� -$�--�(,�-� , %,��� 3�((,$3����&&�&���, %,�
��--, ���(,�-�$, 0�33���=
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,��� �,5�11��3�

�! (�

�� �++�� �� )!� 3�� �� >���, ,8 4-�-� �55$�0�-� ��
$,
���(,�-� $,3��-, �--��&���, %,��, %�$,--�0, +�/!�/
	�� , +�/!�/	�� �� (�-,$�� %� 5$�%�&���, ,% �((�4.
4���, 4�� (,$3�-� %� ��--, , %� 5$�%�--� � 1�4, %� ��--,=
*�4-� �� %,3$,-� %,� ����4-$� %,��, 5���-�37, �
$�3��, ,

2�$,4-��� , %,� ����4-$� %,��� 4���-, �� 
��
�� ����
#5�11��3�-� �,��� /������� 0++���� � �� ��� %,� �� ��
���
����' $,��-�0� �� -$�--�(,�-� %� (�3$�2��-$�&���, �,�
5$�3,44� %� 5$�%�&���, %,� ��--, ���(,�-�$,=
*�4-� �� $,��&���, �� %�-� � 2,11$��� ���� %,��� 3�(.

(�44���, ��-,$(���4-,$���, ��3�$�3�-� %� %,-,$(���$, ��
%�$�1���-�8 %,� ��--, ���(,�-�$, 2$,43� 5�4-�$�&&�-�� 2$,.
43� 5�4-�$�&&�-� %� ��-� >����-�8 , (�3$�2��-$�-� 2$,43�
5�4-�$�&&�-� 4���� 1�4, %,��� ,0���&���, -,3����
�3� ,
43�,�-�2�3�=
*�4-� �� 3�(���3�&���, ���� 	�((�44���, ,�$�5,� ��

4,�4� %,��� %�$,--�0� �� +�/�!/	�=
��-,��-� �� �,3,44�-�8 %� %,-,$(���$,� 4���� 1�4, %,��,

$�4��-��&, %,��� 3�((�44���, ��-,$(���4-,$���, �����&�
3�-�-�� �� %�$�1���-�8 %,� ��--, 2$,43� 5�4-�$�&&�-�� %,�
��--, 2$,43� 5�4-�$�&&�-� %� ��-� >����-�8 , %,� ��--, (�3$�.
2��-$�-� 2$,43� 5�4-�$�&&�-�=

�,3$,-���?
�$-� ��

�� �� %�-� %� 43�%,�&� %,� 9��--, 2$,43� 5�4-�$�&&�-�:
, %,� 9��--, 2$,43� 5�4-�$�&&�-� %� ��-� >����-�8 :� 3�4E8
3�(, %,2���-� %���6�$-� ! %,��� �,

, � (�

�� �+�+�
�� ��+ ,8 %,-,$(���-� �,� 4,4-� 
��$�� 4�33,44�0� �
>�,��� %,� -$�--�(,�-� -,$(�3��
�� �� %�-� %� 43�%,�&� %,� 9��--, (�3$�2��-$�-� 2$,43�

5�4-�$�&&�-�: ,8 %,-,$(���-� �,� %,3�(� 
��$�� 4�33,4.
4�0� � >�,��� %,� -$�--�(,�-� -,$(�3��

�$-� ��
�� �� 4,�4� %,��6�$-� !� 3�((� �.��� , �.:,����� %,�

%,3$,-� �,
�4��-�0� �� 
,����� �++�� �� ��+ �6�4� %,��,
%,��(���&���� %� 0,�%�-� %� 3�� ���6�$-� � ,8 4�1�$%���-�
�� $�45,--� %,� $,>��4�-� 5$,43$�--� 5,$ � 4��
��� -�5� %�
��--,� ��37, 4, %,--� 5$�%�--� 5$�0,�
��� %� ��-$� �-�-��
�� 5$,4,�-, %,3$,-� ,8 5�11��3�-� �,��� /������� 0++��

��� � %,��� �,5�11��3� �-�������

��(�� �! ��
��� ����
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*�4-� �� %,3$,-� �,
�4��-�0� �� 
��
�� ����� �� ��� 3��
�� >���, ,8 4-�-� $,3,5�-� �� %�$,--�0� ����/��/	� 3��3,$.
�,�-, �6,-�37,--�-�$� , �� 5$,4,�-�&���, %,� 5$�%�--� ���.
(,�-�$�� ���37,@ �� $,��-�0� 5�11��3�-�8 =
*�4-� �� �,

, � (�

�� �+�+� �� ��+� $,3��-, %�43�.

5���� %,� -$�--�(,�-� , %,��� 3�((,$3����&&�&���, %,�
��--, ���(,�-�$, 0�33��� , 4�, (�%�2�37, ,% ��-,
$�.
&����=
*�4-� �� %,3$,-� (���4-,$���, �� ��) %,� + (�

�� �++�

$,3��-, � $,>��4�-� 5,$ �� 5$�%�&���, %� ��--, 2$,43�
5�4-�$�&&�-� %� ��-� >����-�8 =
*�4-� �� %,3$,-� %,� �$,4�%,�-, %,��� �,5�11��3�

�! 
,����� �++�� �� )!� 3��3,$�,�-, �� $,
���(,�-�
$,3��-, �--��&���, %,��, %�$,--�0, +�/!�/	�� , +�/!�/
	�� �� (�-,$�� %� 5$�%�&���, ,% �((�44���, 4�� (,$.
3�-� %� ��--, , %� 5$�%�--� � 1�4, %� ��--,=
*�4-� �� %,3$,-� �,
�4��-�0� �� (�

�� �++�� �� �))

$,3��-, �--��&���, %,��, %�$,--�0, +�/!�/	�� , +�/�/
	� 3��3,$�,�-� �6�
�,�, %,� 5$�%�--� ���(,�-�$�=
*�4-� �� $,
���(,�-� #	�' �� �)+�/+� %,� 	��4�
���

%,� �� %�3,(1$, �++� 37, 2�44� �, %�45�4�&���� 3�(5�,.
(,�-�$� %,��6�$
���&&�&���, 3�(��, %,� (,$3�-� �,� 4,-.
-�$, %,� ��--, , %,� 5$�%�--� ��--�,$�.3�4,�$� 5,$ >���-�
$�
��$%� �� ��--, ���(,�-�$,=
*�4-� �� $,
���(,�-� #	�' ���/���� %,� ��$��(,�-�

,�$�5,� , %,� 	��4�
��� %,� �� 
,����� ���� 37, 4-�1���.
43, � 5$��3�5� , � $,>��4�-� 
,�,$��� %,��� �,
�4��&���, ���.
(,�-�$,=
*�4-� �� %,3$,-� �,
�4��-�0� ! �--�1$, �+++� �� ���

$,3��-, �--��&���, %,��, %�$,--�0, +�/��/	� , +�/��/
	� 3��3,$�,�-� �� %�0�,-� %� �-���&&�&���, %� -����,
4�4-��&, �% �&���, �$(���3�� -�$,�4-�-�3� , %,��,
4�4-��&, 1,-�.��-�
���4-, �,��, 5$�%�&���� %� ���(��� ,
�, (�4�$, %� 3��-$���� 4� -����, 4�4-��&, , 4�� ��$� $,4�.
%�� �,
�� ���(��� 0�0� , �,� ��$� 5$�%�--��
*�4-� �� %,3$,-� �,
�4��-�0� �� 
,����� �++�� �� ��+

$,3��-, �--��&���, %,��, %�$,--�0, ��/�)�/	��� ��/�)�/
	��� ��/��/	�� , +�/���/	�� $,��-�0, �� (,%�3�����
0,-,$���$�=
*�4-� �� $,
���(,�-� #	�' �� ����/���� %,� ��$��.

(,�-� ,�$�5,� , %,� 	��4�
��� %,� �� ��
��� ���� 37,
�4-�-��43, �� 4�4-,(� %� �%,�-�2�3�&���, , %� $,
�4-$�&���,
%,� 1�0��� , $,��-�0� ���6,-�37,--�-�$� %,��, 3�$�� 1�0��,
, %,� 5$�%�--� � 1�4, %� 3�$�� 1�0��,� , 37, �1$�
� ��
$,
���(,�-� #	�' �� ���/+� %,� 	��4�
���=
*�4-� �� 3�(���3�&���, ���� 	�((�44���, ,�$�5,� ��

4,�4� %,��� %�$,--�0� �� +�/�!/	�=
��-,��-� �� �,3,44�-�8 %� %,2���$, , %�43�5����$, ��

4�4-,(� %� $��-$�33��1���-�8 %,� ��--, �� 2��, %� �44�3�$�$,
�� 5��8 �(5�� -�-,�� %,
�� ��-,$,44� %,� 3��4�(�-�$,=

�,3$,-�?
�$-� ��

#�� ���	� ���*
�� �� 5$,4,�-, %,3$,-� 4� �55��3� ���, 2�4� 5$�%�--�0,

2�����&&�-, ���6�--,��(,�-� %� ��--, ���(,�-�$, 0�33���
%� 3�� ���� �,

, %,� � (�

�� �+�+� �� ��+� �% �--,��-�
3�� � 5$�3,%�(,�-� 5$,0�4-� �% ��-�$�&&�-� �� �--��&���,
%,��� (,%,4�(� �,

,�

�$-� ��
-�+�����
��

�� �� 2��� %,� 5$,4,�-, %,3$,-� 4� ��-,�%, 5,$?
�2 9��--, 3$�%�:� �� ��--, 5$�%�--� (,%���-, 4,3$,.

&���, %���� 
7���%��� (�((�$�� %� 0�337,� 4�--�5�4-�
�% ��� -,(5,$�-�$� ��� 4�5,$��$, � !�F	� � �% �� -$�-.
-�(,�-� �0,�-, ,22,--� ,>��0��,�-,=

	2 9��--, ���(,�-�$, 0�33���:� �, 5$�%�&���� %�
��--, %� 3�� ���� �,

, � (�

�� �+�+� �� ��+� , �� $,
���.
(,�-� #	�' �)+�/+�=

�2 9���,0�(,�-�:� �, �(5$,4, 37, ,22,--���� �--�.
0�-�8 %� ���,0�(,�-� %� 1�0��� %� ��--, �� 3�� 5$�%�&���,
,8 %,4-���-� ���6�--,��(,�-� %� ��--, 0�33���=

�2 93,�-$� %� $�33��-�:� �� 4-�1���(,�-� �� 3�� ��
��--, 3$�%� 5��8 ,44,$, $�33��-� ,% ,0,�-���(,�-, $�2.
2$,%%�-� , 2��-$�-�=

�2 93,�-$� %� 4-��%�$%�&&�&���,:� �� 4-�1���(,�-�
��� 4-$�--�$��(,�-, 3���,
�-� � �� 3,�-$� %� $�33��-��
�,@ �% ��� 4-�1���(,�-� %� -$�--�(,�-� � -$�42�$(�.
&���,� �,� >���, �� ��--, 3$�%� 5��8 ,44,$, 4�--�5�4-� �
43$,(�-�$� � � (�%�2�3� , $,
���&���, %,��� (�-,$��

$�44�=

+2 95$�(� �3>��$,�-�:� �6�(5$,4� � �6�44�3��&���,
37, �3>��4-� ��--, %�$,--�(,�-, %���6���,0�(,�-�� ,0,�.
-���(,�-, ��37, 4��� 5,$ 3,%,$�� � ��� � 5��8 �(5$,4,
%,%�-, �� -$�--�(,�-� � ���� -$�42�$(�&���, %,� ��--, �
%� ��-$� 5$�%�--� ��--�,$�3�4,�$� 4,�&� 5$�3,%,$, �%
��3��� �5,$�&���, 2�4�3� 4�� ��--,=

�2 94-�1���(,�-� %� -$�--�(,�-�:� �� 4-�1���(,�-�
�� 3�� 4� ,22,--�� �� -$�--�(,�-� -,$(�3� %,� ��--, ,% ��
4�� 3��2,&����$�,�-�=

42 9-$�45�$-�-�$�:� 
�� �5,$�-�$� %,��� ��
�4-�3� 37,
4� ��-,$2�33���� -$� 
�� ���,0�(,�-�� � 3,�-$� %� $�33��-��
� 3,�-$� %� 4-��%�$%�&&�&���,� 
�� 4-�1���(,�-� %� -$�--�.
(,�-� � -$�42�$(�&���,=

�2 9(��
�(�:� >���4��4� 4�4-��&� � 5$�%�--�� 3�(.
5$,4� 
�� �%%�-�0�� %,4-���-� ���� ��-$�&���, 5,$ 0�� �$��,
%,
�� ���(����

�$-� ��
�
������ 
		 �����

�� � 4�

,--� �11��
�-� � $�45,--�$, �, %�45�4�&���� %,�
5$,4,�-, %,3$,-� 4��� 3���$� 37, 5$�%�3��� ��--, ���.
(,�-�$, 0�33��� %� 3�� ���� �,

, �� ��+/�+�+� , �� 5�$-�.
3���$,?

�2 � -�-���$� %,
�� ���,0�(,�-�=
	2 � 5$�(� �3>��$,�-�=
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%,��, 5���-�37, �
$�3��, , 2�$,4-���� (�%�2�3� � 
,�����
%� �
�� ���� 3�� %,3$,-� �6��%,���-�8 5,$ �6�11�--�(,�-�
%,� 1�0��� ��2,--� %� -�1,$3���4� , 1$�3,���4� , %,
�� �0���
, 3�5$��� ��2,--� %� 1$�3,���4�=
*�4-� �� �,

, � 
��
�� �+��� �� ���� 3��3,$�,�-,

(�4�$, 5,$ �� ��--� 3��-$� ��3��, (���--�, ,5�&��-�37,
%,
�� ���(���=

*�4-� �� %,3$,-� �� �
�4-� �++!� �� �)�� , 4�33,44�0,
(�%�2�37,� $,
���(,�-� 3��3,$�,�-, �� 5���� ��&�����,
5,$ �� ,$�%�3�&���, %,��� 1$�3,���4� �,
�� ���,0�(,�-�
1�0���=
*�4-� �� �,

, �� (�$&� �+��� �� ��!� 3��3,$�,�-, 2$�

�6��-$� �� $�2����&��(,�-� %,��� 1���2�3� 4���-�$�� %,
��
���,0�(,�-� %���� -�1,$3���4� , %���� 1$�3,���4�=
*�4-� �� %,3$,-� ��-,$(���4-,$���, �� 
��
�� �����

5�11��3�-� �,��� /������� 0++���� � �� ��� %,� �� 4,--,(.
1$, ����� 3��3,$�,�-, �� %,-,$(���&���, %,��� (�4�$�
%,��, ��%,���-�8 %� �11�--�(,�-� %,
�� ���(��� %,��� 45,.
3�, 1�0���� 1�2������ �0��� , 3�5$��� 5,$ �6���� ����=
*�4-� �� %,3$,-� �,
�4��-�0� �� (�

�� �+++� �� �+�

�--��&���, %,��� %�$,--�0� +�/��/	� 37, (�%�2�3� ,
�

��$�� �� %�$,--�0� �!/!��/	�� $,��-�0� �� 5$�1�,(�
%� 5���&�� 4���-�$�� �� (�-,$�� %� 43�(1� ��-$�3�(���.
-�$� %� ���(��� %,��, 45,3�, 1�0��� , 4���� 37, 2�44� � 3$�.
-,$� 5,$ �6�--$�1�&���, , �� (��-,��(,�-� %,��� >����2�3�
%� $,
���, �22�3���(,�-, ��%,��, �,� 3��2$��-� %� -�1,$.
3���4�� 1$�3,���4� 1�0��� , �,�3�4� 1�0��� ,�&��-�3�=
*�4-� 37, 3�� %,3�4���, ����/��!/	� %,� �� (�$&�

���� �� $,
���, �(����.��(�
�� 7� �3>��4�-� �� >����.
2�3� %� �22�3���(,�-, ��%,��, �,� 3��2$��-� %,��� 1$�3,�.
��4� 1�0���=
	��4�%,$�-� 37, �,��� 4�%%,--� $,
���, 4� 4��� 0,$�2�.

3�-� ��3��� 2�3���� %� 1$�3,���4� 1�0��� ,0���-�0� �� ���,.
0�(,�-� 4�-��-� �,��, 5$�0��3, %� ��$(� , �,

�� �(����=
	��4�%,$�-� 37, 5,$ �(5,%�$, �� %�22�4���, %,��6��2,.

&���, �% ��-$� ���,0�(,�-� , 5,$ 3��4,�-�$, %� (��-,�,$,
�� >����2�3� %� -,$$�-�$�� �22�3���(,�-, ��%,��, �� >�,4-�
3�4� ,8 �,3,44�$�� 5$�3,%,$, ���6�11�--�(,�-� %� -�--� �
3�5� 5$,4,�-� �,��6���,0�(,�-� , ��� 4��� %� >�,��� $�4��.
-�-� 5�4�-�0� �� -,4- %��
��4-�3�=
	��4�%,$�-� 37, �� 5$,4,�&� %� -��, (���--�� �,���

$,
���, �(����.��(�
�� $�0,4-, 3�$�--,$, %� ,33,&����.
��-�8 , %� 45�$�%�3�-�8 , 37, � 4,
��-� %� -��, ,0,�-� 4�
$,�%, �,3,44�$�� �6�%�&���, %� (�4�$, �$
,�-� 5,$ 3��.
4,�-�$, ��� ,22�3�3, ��--�� 4���6��-,$� -,$$�-�$�� ��&��.
���,� � -��� &����4�� ���37,@ �� 2��, %� 0���$�&&�$, � 3�5�
%� ��-� 
,�,���
�� %,� ��4-$� 5�-$�(���� &��-,3��3�=
*�4-� �� 3�((� � %,��6�$-� � %,��� �,

, �� ��� %,� �+��

�� 4,�4� %,� >���,� 3�� %,3$,-� %,� ����4-$� %,��� 4���-,�
5,$ ,0�-�$, �� %�22�4���, %� (���--�, 5,$ �, >���� ,8 5$,0�.
4-� �6�11��
� %� %,���3��� ,8 4-�1���-� 37, 
�� ���(���
��2,--� � 4�45,--� %� ��2,&���, � %� 3��-�(���&���, 4���
�11�--�-� ,% ,0,�-���(,�-, %�4-$�--�� 2�44��%��,� ����.
-$,� �, $,��-�0, 3��%�&���� , (�%���-�8 =

�,3$,-�?

�$-� ��

�,��� $,
���, �(����.��(�
��� �� 5�44,44� %,���
>����2�3� %� 9�22�3���(,�-, ��%,��,: %� 1$�3,���4�
1�0��� $�3���43��-� %���6�����, ,�$�5,�� �,� 2�3����
%� 1$�3,���4� ,0���-�0� �33,$-�-� �,��, 5$�0��3, %� ��$(�
, �,

�� �(���� 4� 5$�3,%, ���6�11�--�(,�-� -�-��, %,�
3�5� %,-,��-� �� �&�,�%� ,� >����$� �6��%�
��, ,5�%,(��.
��
�3� ,% �
�� ��-$� �33,$-�(,�-� �-��, %�(�4-$� 37, �6��.
�,0�-�$, ,/� %,-,�-�$, �11�� $�45,--�-� �� ��$(�-�0�
0�
,�-, �� (�-,$�� %� ,$�%�3�&���, %,��, (���--�, ��2,-.
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-�0,� %� �%,�-�2�3�&���, , %� $,
�4-$�&���, %,
�� ���(��� ,
(�0�(,�-�&���, %,
�� 4-,44�� � %,3�$$,$, %�� �F 
,�����
���� 4� �55��3��� �, 4,
�,�-� %�45�4�&����?

�2 5,$ 
�� ���(��� �, 3�� 3�$�� ,% � 3�� 0�43,$� %,1.
1��� ,44,$, 3�(5�,-�(,�-, %�4-$�--�� 0�,�, 3�$$�45�4-�
�� ��%,���&&� 5�$� �� )�I %� >�,��� 5$,0�4-� %���� �,

,
� 
��
�� �+��� �� ���� , %�� %,3$,-� �� ��
��� �+�+�
�� �+�� , 4�33,44�0, (�%�2�37,= �� $,
���, �(����.��(�.

�� 5$�00,%,$�8 � ,$�
�$, �� 5$�5$�,-�$�� %,
�� ���(���
�� $,4-��-, 5�$-, %,� 0���$, %� (,$3�-� %,-,$(���-�
4,3��%� >���-� 5$�(� ��%�3�-� , 3�� �, (�%���-�8 5$,0�.
4-, �,� 3�4� %,� 2�3���� %� -��, (���--��=

	2 5,$ 
�� ���(��� �, 3�� 3�$�� ,% � 3�� 0�43,$� ���
4��� 4-�-� 3�(5�,-�(,�-, %�4-$�--�� 0�,�, 3�$$�45�4-�
�6��%,���&&� 5�$� �� )�I %� >�,��� 5$,0�4-� %���� �,

,
� 
��
�� �+��� �� ���� , %�� %,3$,-� �� ��
��� �+�+
�� �+� , 4�33,44�0, (�%�2�37,= �� $,
���, �(����.��(�.

�� 5$�00,%,$�8 � ,$�
�$, �� 5$�5$�,-�$�� %,
�� ���(���
�� $,4-��-, 5�$-, %,� 0���$, %� (,$3�-� %,��6���(��,
%,-,$(���-� 4,3��%� >���-� 5$�(� ��%�3�-� , 3�� �,
(�%���-�8 5$,0�4-, �,� 3�4� %,� 2�3���� %� -��, (���--��=
%� -��� �(5�$-� 0,$$�8 %,-$�--� >���-� 5�
�-� %��
(�3,��� �� 5$�5$�,-�$���
�� 5$,4,�-, %,3$,-� 0,$$�8 5�11��3�-� �,��� /�������

0++���� � %,��� �,5�11��3� �-������ ,% ,�-$,$�8 �� 0�
�$,
�� 
��$�� %,��� 4�� 5�11��3�&���,�
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*�4-� �� %,3$,-� �,
�4��-�0� � 2,11$��� �++�� �� �+� ,
4�33,44�0, (�%�2�3�&���� ,% ��-,
$�&����=
*�4-� �6�$-� �+ %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��

�� ���� 3�(, 4�4-�-��-� %���6�$-� �� �,--,$� 42� 3�((� ��
%,� %,3$,-� �,
�4��-�0� �� 2,11$��� �++�� �� !! , 3�(,
(�%�2�3�-� %���6�$-� �+� 3�((� �� , ��� %,��� �,

,
�� %�3,(1$, �+++� �� !��=
*�4-� �� %,3$,-� %�$�
,�&���, �! (�

�� ����� 5�11��.

3�-� �,��� /������� 0++���� � . 4,$�, 
,�,$��, . �� ���
%,� � 
��
�� ����� 3��3,$�,�-, (�%���-�8 %� -$�4(�4.
4���, %�-� %� 3�((,$3����&&�&���, %,��, 45,3����-�8 (,%�.
3����� �--$�0,$4� �� 4�4-,(� ��2�$(�-�3� �����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

����� 5�11��3�-� �,� 4�55�,(,�-� �$%���$�� �� ��� ����
/������� 0++���� � %,� ! ��
��� ����� �� �)�� 3��3,$�,�-,
�� 4�45,�4���, %,��6��-�$�&&�&���, ���6�((�44���, ��
3�((,$3�� ; �� 4,�4� %,��6�$-� �+� 3�((� �� %,� %,3$,-�
�,
�4��-�0� �+ (�

�� �++�� �� ���� , 4�33,44�0, ��-,
$�.

&���� , (�%�2�3�&���� ; %� ��3��, 45,3����-�8 (,%�3������
-$� �, >���� >�,��� ��%�3�-� �,��� 5�$-, %�45�4�-�0� %,�
5$,4,�-, %,3$,-�=
*�4-� �� 3�(���3�&���, %,��� %�--� �����%�4-$��

<�$(�3,�-�3� ��$��� 5,$0,��-� �6� ��
��� ����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

���� 3�� �� >���, ,8 4-�-� ,$$��,�(,�-, 4�45,4� �6��-�.
$�&&�&���, ���6�((�44���, �� 3�((,$3�� %,��� 45,3����-�8
(,%�3����, ��%�3�-� �,��� 5�$-, %�45�4�-�0� %,� 5$,4,�-,
%,3$,-� 5,$ �(5$,3�4���, %,� %�-� -$�4(,44� �--$�0,$4�
�� 4�4-,(� ��2�$(�-�3� ����� %���� %�--� -�-���$, %,��6��.
-�$�&&�&���,=
��-,��-� 5,$-��-� �,3,44�$�� $,--�2�3�$, �� ����

�� ����)/����!��.++/�� %,� �� (�

�� ����=

�,3$,-�?
�,$ �, (�-�0�&���� ,45��3�-�-, �,��, 5$,(,44,� ,8 $,0�.

3�-� 3�� %,3�$$,�&� �((,%��-� �� ���� �� ����)/
����!��.++/�� %,� �� (�

�� ����� ��(�-�-�(,�-, ����
45,3����-�8 (,%�3����, 4�--���%�3�-�?
��
H�	��?
9� 
 J )�� (
/��� (� 5��0,$, , 4��0,�-, 5,$ 4���.

&���, ���,--�1��, 5,$ �4� ��-$�(�43���$,: � 2��3��3���
5��0,$, J � 2���� 4��0,�-, ��� (�=

����	� �� ����!� ��)�
%�--� �����%�4-$�� <�$(�3,�-�3� ��$���
�� 5$,4,�-, %,3$,-� 4�$�8 5�11��3�-� �,��� /�������

0++���� � %,��� �,5�11��3� �-������ , ��-�2�3�-� �� 0��
�((���4-$�-�0� ���� %�--� ��-,$,44�-��

��(�� �� ��
��� ����
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*�4-� �� %,3$,-� �,
�4��-�0� � 2,11$��� �++�� �� �+� ,
4�33,44�0, (�%�2�3�&���� ,% ��-,
$�&����=
*�4-� �6�$-� �+ %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��

�� ���� 3�(, 4�4-�-��-� %���6�$-� �� �,--,$� 42� 3�((� ��
%,� %,3$,-� �,
�4��-�0� �� 2,11$��� �++�� �� !! , 3�(,
(�%�2�3�-� %���6�$-� �+� 3�((� �� , ��� %,��� �,

,
�� %�3,(1$, �+++� �� !��=
*�4-� �� %,3$,-� %�$�
,�&���, �! (�

�� ����� 5�11��.

3�-� �,��� /������� 0++���� � . 4,$�, 
,�,$��, . �� ���
%,� � 
��
�� ����� 3��3,$�,�-, (�%���-�8 %� -$�4(�4.
4���, %�-� %� 3�((,$3����&&�&���, %,��, 45,3����-�8 (,%�.
3����� �--$�0,$4� �� 4�4-,(� ��2�$(�-�3� �����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

����� 5�11��3�-� �,� 4�55�,(,�-� �$%����� ���� /���
����� 0++���� � �� �)� %,� ! ��
��� ����� 3��3,$�,�-, ��
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4�45,�4���, %,��6��-�$�&&�&���, ���6�((�44���, �� 3�(.
(,$3�� ; �� 4,�4� %,��6�$-� �+� 3�((� �� %,� %,3$,-�
�,
�4��-�0� �+ (�

�� �++�� �� ���� , 4�33,44�0, ��-,
$�.
&���� , (�%�2�3�&���� ; %� ��3��, 45,3����-�8 (,%�3������
-$� �� >���, >�,��� ��%�3�-� �,��� 5�$-, %�45�4�-�0� %,�
5$,4,�-, %,3$,-�=
*�4-� �� 3�(���3�&���, %,��� %�--� ����4 �-���� ��$���

%,� �� ��
��� ����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

����� 5�11��3�-� �,� 4�55�,(,�-� �$%���$�� ���� /���
����� 0++���� � �� �)� %,� ! ��
��� ����� 3�� �� >���, ,8
4-�-� ,$$��,�(,�-, 4�45,4� �6��-�$�&&�&���, ���6�((�4.
4���, �� 3�((,$3�� %,��� 45,3����-�8 (,%�3����, ��%�3�-�
�,��� 5�$-, %�45�4�-�0� %,� 5$,4,�-, %,3$,-�=
��-,��-� 5,$-��-� �,3,44�$�� $,--�2�3�$, �� ����

�� ����)/����!��.++/�� %,� �� (�

�� ����=

�,3$,-�?
�,$ �, (�-�0�&���� ,45��3�-�-, �,��, 5$,(,44,� ,8 $,0�.

3�-� 3�� %,3�$$,�&� �((,%��-� ; ��(�-�-�(,�-, ����
45,3����-�8 (,%�3����, 4�--���%�3�-� ; �� ���� �� ����)/
����!��.++/� %,� �� (�

�� ����� �� 4,�4� %,��6�$-� �+�
3�((� �.	��� %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��
�� ���?
H��������?
9���)�� ��/��) (� 4���&���, ���,--�1��,: �� 4�$��.
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*�4-� �� %,3$,-� �,
�4��-�0� � 2,11$��� �++�� �� �+� ,
4�33,44�0, (�%�2�3�&���� ,% ��-,
$�&����=
*�4-� �6�$-� �+ %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��

�� ���� 3�(, 4�4-�-��-� %���6�$-� �� �,--,$� 42� 3�((� ��
%,� %,3$,-� �,
�4��-�0� �� 2,11$��� �++�� �� !! , 3�(,
(�%�2�3�-� %���6�$-� �+� 3�((� �� , ��� %,��� �,

,
�� %�3,(1$, �+++� �� !��=
*�4-� �� ���� �! (�

�� ����� 5�11��3�-� �,��� /���

����� 0++���� � . 4,$�, 
,�,$��, . �� ��� %,� � 
��
��
����� 3��3,$�,�-, (�%���-�8 %� -$�4(�44���, %�-� %�
3�((,$3����&&�&���, %,��, 45,3����-�8 (,%�3����� �--$�.
0,$4� �� 4�4-,(� ��2�$(�-�3� �����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

����� 5�11��3�-� �,� 4�55�,(,�-� �$%����� ���� /���

����� 0++���� � �� �)� %,� ! ��
��� ����� 3��3,$�,�-, ��
4�45,�4���, %,��6��-�$�&&�&���, ���6�((�44���, �� 3�(.
(,$3�� ; �� 4,�4� %,��6�$-� �+� 3�((� �� %,� %,3$,-�
�,
�4��-�0� �+ (�

�� �++�� �� ���� , 4�33,44�0, ��-,
$�.
&���� , (�%�2�3�&����� ; %� ��3��, 45,3����-�8 (,%�3�.
����� -$� �� >���, >�,��� ��%�3�-� �,��� 5�$-, %�45�4�-�0�
%,� 5$,4,�-, %,3$,-�=
*�4-� �� 3�(���3�&���, %,��� %�--� ��$3� ��-��,--�

��5��� %,� + ��
��� ����=
*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��

����� 5�11��3�-� �,� 4�55�,(,�-� �$%���$�� ���� /���
����� 0++���� � �� �)� %,� ! ��
��� ����� 3�� �� >���, ,8
4-�-� ,$$��,�(,�-, 4�45,4� �6��-�$�&&�&���, ���6�((�4.
4���, �� 3�((,$3�� %,��� 45,3����-�8 (,%�3����, ��%�3�-�
�,��� 5�$-, %�45�4�-�0� %,� 5$,4,�-, %,3$,-� 5,$ �(5$,3�.
4���, %,� %�-� -$�4(,44� �--$�0,$4� �� 4�4-,(� ��2�$(�.
-�3� ����� %���� %�--� ��$3� ��-��,--� ��5���=
��-,��-� 5,$-��-� �,3,44�$�� $,--�2�3�$, �� ����

�� ����)/����!��.++/�� %,� �� (�

�� ����=

�,3$,-�?
�,$ �, (�-�0�&���� ,45��3�-�-, �,��, 5$,(,44,� ,8 $,0�.

3�-� 3�� %,3�$$,�&� �((,%��-� ; ��(�-�-�(,�-, ����
45,3����-�8 (,%�3����, 4�--���%�3�-� ; �� ���� �� ����)/
����!��.++/� %,� �� (�

�� ����� �� 4,�4� %,��6�$-� �+�
3�((� �.	��� %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��
�� ���?
���� ��?
9���) (
 3�(5$,44,: �� 3�(5$,44, . ����	�

�� ���+�! ��!�
%�--�? ��$3� ��-��,--� ��5���
�� 5$,4,�-, %,3$,-� 4�$�8 5�11��3�-� �,��� /�������

0++���� � %,��� �,5�11��3� �-������ , ��-�2�3�-� �� 0��
�((���4-$�-�0� ���� %�--� ��-,$,44�-��

��(�� �� ��
��� ����
& ���������. $��
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*�4-� �� %,3$,-� �,
�4��-�0� � 2,11$��� �++�� �� �+� ,
4�33,44�0, (�%�2�3�&���� ,% ��-,
$�&����=
*�4-� �6�$-� �+ %,� %,3$,-� �,
�4��-�0� �+ (�

�� �++��

�� ���� 3�(, 4�4-�-��-� %���6�$-� �� �,--,$� 42� 3�((� ��
%,� %,3$,-� �,
�4��-�0� �� 2,11$��� �++�� �� !! , 3�(,
(�%�2�3�-� %���6�$-� �+� 3�((� �� , ��� %,��� �,

,
�� %�3,(1$, �+++� �� !��=
*�4-� �� %,3$,-� %�$�
,�&���, �! (�

�� ����� 5�11��.

3�-� �,��� /������� 0++���� � . 4,$�, 
,�,$��, . �� ���
%,� � 
��
�� ����� 3��3,$�,�-, (�%���-�8 %� -$�4(�4.
4���, %�-� %� 3�((,$3����&&�&���, %,��, 45,3����-�8 (,%�.
3����� �--$�0,$4� �� 4�4-,(� ��2�$(�-�3� �����=
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*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��
����� 5�11��3�-� �,� 4�55�,(,�-� �$%���$�� ���� /���
����� 0++���� � �� �)� %,� ! ��
��� ����� 3��3,$�,�-, ��
4�45,�4���, %,��6��-�$�&&�&���, ���6�((�44���, �� 3�(.
(,$3�� ; �� 4,�4� %,��6�$-� �+� 3�((� �� %,� %,3$,-�
�,
�4��-�0� �+ (�

�� �++�� �� ��� , 4�33,44�0, ��-,
$�.
&���� , (�%�2�3�&����� ; %� ��3��, 45,3����-�8 (,%�3�.
����� -$� �� >���, >�,��� ��%�3�-� �,��� 5�$-, %�45�4�-�0�
%,� 5$,4,�-, %,3$,-�=

*�4-� �� 3�(���3�&���, %,��� %�--�  �� ��5��� %,�
+ ��
��� ����=

*�4-� �� %,3$,-� �� ����	� �� %,� ) (�$&� ���� 3�� ��
>���, >�,4-� �((���4-$�&���, 7� -$�42,$�-� �� -�-���$�-�8
%,��6��-�$�&&�&���, ���6�((�44���, �� 3�((,$3�� %,���
45,3����-�8 (,%�3����, ��%�3�-� �,��� 5�$-, %�45�4�-�0�
%,� 5$,4,�-, %,3$,-� %���� %�--� �HK
 ��5��� ���� %�--�
 �� ��5���� , �� 3��0,$4���, %,��6��-,$� ��-�$�&&�&���,
� 9(,%�3����, 
,�,$�3�: 3�� �� 3��4,
�,�-, 0�$��&���,
%,��� %,��(���&���, %� 9A��%$���G: �� 9�3�%� 3��.
%$���3�:=

*�4-� �� ���� �� ����)/����!��.++/�� %,� �� (�

��
����� 5�11��3�-� �,� 4�55�,(,�-� �$%���$�� ���� /���
����� 0++���� � �� �)� %,� ! ��
��� ����� 3�� �� >���, ,8
4-�-� ,$$��,�(,�-, 4�45,4� �6��-�$�&&�&���, ���6�((�4.
4���, �� 3�((,$3�� %,��� 45,3����-�8 (,%�3����, ��%�3�-�
�,��� 5�$-, %�45�4�-�0� %,� 5$,4,�-, %,3$,-�=

��-,��-� 5,$-��-� �,3,44�$�� $,--�2�3�$, �� ����
�� ����)/����!��.++/�� %,� �� (�

�� ����=

�,3$,-�?

�,$ �, (�-�0�&���� ,45��3�-�-, �,��, 5$,(,44,� ,8
$,0�3�-� 3�� %,3�$$,�&� �((,%��-� ; ��(�-�-�(,�-,
���� 45,3����-�8 (,%�3����, 4�--���%�3�-�� ; �� ����
�� ����)/����!��.++/� %,� �� (�

�� ����� �� 4,�4� %,�.
�6�$-� �+� 3�((� �.	��� %,� %,3$,-� �,
�4��-�0� �+ (�

��
�++�� �� ���?

�	��� 	�������	�?

��� (
/��� (� 4���&���, ���,--�1��, �� 2���, .
����	� �� ��)��� ���=

��� (
/�� (� 4���&���, 5,$ ��2�4���, ,�%�0,��4�
� 2���, . ����	� �� ��)��� ����

%�--�?  �� ��5���

�� 5$,4,�-, %,3$,-� 4�$�8 5�11��3�-� �,��� /�������
0++���� � %,��� �,5�11��3� �-������ , ��-�2�3�-� �� 0��
�((���4-$�-�0� ���� %�--� ��-,$,44�-��

��(�� �� ��
��� ����
& ������
�� ������ �. ��
�
�
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*�4-� �� %,3$,-� (���4-,$���, �� 
,����� ����� 5�11��.
3�-� �,��� /������� 0++���� � �� !� %,� �� 2,11$���
����� 3�� �� >���, �� ����4-$� %,� -$�45�$-� , %,��� ��0�.

�&���, 7� %,--�-� %�45�4�&���, 5,$ �� $,0�4���, 5,$��.
%�3� %� (�-�3�3�� , 3�3��(�-�$�=
*�4-� �� %,3$,-� (���4-,$���, � %�3,(1$, ����� 5�11��.

3�-� �,��� /������� 0++���� � �� �+� %,� �� %�3,(1$,
����� 3�� �� >���, �� ����4-$� %,� -$�45�$-� , %,��� ��0�.

�&���, 7� 2�44�-� �� 3��,�%�$�� %,��, $,0�4���� %,� (�-�.
0,�3��� , %,� 3�3��(�-�$� 5,$ �6���� ����=
*�4-� �� %,3$,-� (���4-,$���, �! ��0,(1$, ����� 5�1.

1��3�-� �,��� /������� 0++���� � �� ��� %,� �� ��0,(1$,
����� 3�� �� >���, �� ����4-$� %,��, ��2$�4-$�--�$, , %,�
-$�45�$-� 7� 2�44�-� �� 3��,�%�$�� %,��, $,0�4���� %,�
(�-�0,�3��� , %,� 3�3��(�-�$� 5,$ �6���� ����=
*�4-� �� %,3$,-� (���4-,$���, �+ ��0,(1$, ����� 5�1.

1��3�-� �,��� /������� 0++���� � �� ��� %,� + %�3,(1$,
����� 3�� �� >���, 4��� 4-�-, ,(���-, %�45�4�&���� ��
�$%��, ���� $,0�4���, 5,$��%�3� %,� (�-�0,�3��� , %,�
3�3��(�-�$�� 2�44��%� �� �F ��
��� ���� �� %�-� %����
>���, 5$�3,%,$, �
�� �33,$-�(,�-� $,��-�0� ���, ,(�44����
��>�����-� 5,$ 3�3��(�-�$� , (�-�0,�3���� ���37,@ ��
5$�0� %� 0,��3�-�8 %,� 3�3��(�-�$�=
*�4-� �� %,3$,-� %�$,--�$���, ! 
,����� ����� 5�11��.

3�-� �,��� /������� 0++���� � �� �+ %,� � (�$&� ����
3�� 3�� 4��� 4-�-, %,2���-, �, 3�$�--,$�4-�37, -,3��37,
%,��6�����&&�-�$, %,� 
�4 %� 43�$�3� , 1��3� 5$�0� 0,��.
3�-�8 5,$ 5$�0, ��>����(,�-�=
*�4-� �� 3�$3���$, 5$�-� ���/!�! %,� �� 
,����� ����

3�� 3�� 4��� 4-�-, %,2���-, �, 3�$�--,$�4-�37, -,3��37, %�
�(���
�&���, %,� 1��37� � $���� 5,$ 5$�0, %� 0,��3�-�8
%� 3�3��(�-�$� � -$, $��-, , >��%$�3�3�� �,

,$�=
*�4-� �� 3�$3���$, �� ����/!�! %,� �+ (�

�� ���� 3��

3�� 0�,�, %,2���-� �� 5$�3,%�$� %� 5$�0� 5,$ �� 3��-$����
%,��� 0,��3�-�8 (�44�(� %,� 3�3��(�-�$�� �$-� )� %,�
3�%�3, %,��� 4-$�%�=
*�4-� �� %,3$,-� %�$,--�$���, �� 
��
�� ����� 5�11��.

3�-� �,��� /������� 0++���� � �� �!) %,� �) 
��
�� ����
3�� 3�� 0�,�, %,2���-� �� 5$�3,%�$� %� 5$�0� 5,$ �� 3��.
-$���� %,� 
�4 %� 43�$�3� 5,$ 3�3��(�-�$� , (�-�0,�3���
�(���
�-� 4,3��%� �� 3�5�-��� ) %,��� %�$,--�0� +�/�!/	�=
*�4-� �� %,3$,-� (���4-,$���, %,� �� 
��
�� ����� 5�1.

1��3�-� �,��� /������� 0++���� � �� �)! %,� ) ��
��� ����
3�� 3�� 0�,�, 5$�$�
�-� �� �F 
,����� ���! �� 5$�0� %�
0,��3�-�8 %,� 0,�3��� � -$, , >��--$� $��-,� �$-� )� %,�
3�%�3, %,��� 4-$�%� , �� 5$�0� %� ,(�44���, %,� 0,�3��� �
-$, , >��--$� $��-, �$-�3��� )� , )� %,� 3�%�3, %,���
4-$�%�=
	��4�%,$�-� 37, �, 5$�0, %� 0,��3�-�8 ,% ,(�44���, %,�


�4 %� 43�$�3� 4�� 0,�3��� �� ,4�(, %,11��� ,44,$, ,22,-.
-��-, 3�� 45,3�2�37, �--$,&&�-�$, , 37, ��� -�--, �, �22�.
3��, ��-�$�&&�-, ,G �$-� �� %,� 3�%�3, %,��� 4-$�%� 7����
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5$�00,%�-� -,(5,4-�0�(,�-, ���� ��$� ��4-����&���,�
��� 5�-,�%� 5,$-��-� ,44,$, �5,$�-�0, ���� %�-� %,�
�F ��
��� ����=
	��4�%,$�-� �6�4-��&� �0��&�-� %� ��3��, �44�3��.

&���� %� 3�-,
�$�� %,��, �22�3��, ��-�$�&&�-, ,G �$-� ��
%,� 3�%�3, %,��� 4-$�%� %� 5$�$�
�$,� 5,$ �� ��(�-�-�
��44� -,(5�$��,� �6,22,--��&���, %,��, 5$�0, %� 0,��3�-�8
,% ,(�44���, 4�� 0,�3��� 3�3��(�-�$� ,8 (�-�0,�3��� 5,$
%�$ (�%� ���, �22�3��, ��� ��3�$� %�-�-, %,��, 45,3�2�.
37, �--$,&&�-�$, %� 5$�00,%,$, ���� ��$� ��4-����&���, ,
(,44� �� ,4,$3�&��� , 5,$ 5�-,$ %�$ 3�$4�� �,��6�(1�-�
%,� 
$�55� %� ��0�$� �--$,&&�-�$, 3�4-�-��-� �� 4,�� ��
��5�$-�(,�-� %,� -$�45�$-� -,$$,4-$� �% �� 3��2$��-�
4���,3�-�-� %���, 4-,44, �44�3��&���� %� 3�-,
�$�� %,��,
�22�3��, 3�� �, �44�3��&���� %,� 3�4-$�--�$� %,��, �--$,&.
&�-�$, 4�� ��0,��� %� 4�3�$,&&� %� ��3��� �55�$�-� 37,
��� �22$�$,11,$�� 4,3��%� �� 5�$,$, %,��, 5$�(, ��

$�%� �--�(��, %� 5$�-,&���, 5,$ 
�� �%%,--� , 5,$ � 0,�.
3��� �� $,0�4���,=
	��4�%,$�-� 37, %�
�� ��3��-$� -,��-� %�� ��5�$-�.

(,�-� %,� -$�45�$-� -,$$,4-$� %,� ����4-,$� 3�� �, $�5.
5$,4,�-��&, %,��, �44�3��&���� %� 3�-,
�$�� 4���� $�37�,.
4-� %� 5$�$�
�� ,8 43�-�$�-� , 2�$(��(,�-, 0,$1���&&�-�
37, �� 3��3,44���, %� %,--� 5$�$�
� 4��� �� �F 
,�����
���!� $�4��-� %� �� ��-� 4�22�3�,�-, � 
�$��-�$, 37, �,
�22�3��, ��� ��3�$� �55$�00�
����-, 4� �����,��� 5,$

�22$�$, �� (�44�(� %�22�4���, %,� 4,$0�&�� 4�� -,$$�-�$���
, %���6��-$� 5��8 37, 3��
$�� 5,$ �� 3��2$��-� -,3��3�
-$� �, �44�3��&���� %,��, �22�3��, , >�,��, %,� 3�4-$�-.
-�$� %� �--$,&&�-�$, 4�� ��0,��� %� 4�3�$,&&� %� ��3���
�55�$,337�=
	��4�%,$�-� �6�55�$-���-�8 %� $,���&&�$, �,��6��-,$�

�(1�-� ��&�����, ��� $,-, �%,
��-� %� �22�3��, ,G
�$-� ��� 2�$��-� %� -�--, �, �55�$,337��-�$, �,3,44�$�,�
�� 
$�%� %� 4�%%�42�$, 5�,��(,�-, �� $�37�,4-� %,�.
�6�-,�&�=

�,3$,-�?
�$-� ��

<�--� 4��0� >���-� 
��8 5$,0�4-� %�� %,3$,-� (���4-,.
$���, %,� �� 
��
�� ���� $,��-�0�(,�-, �� 3�3��(�-�$� ,
(�-�0,�3��� � -$, , >��--$� $��-,� �� 5$�0� %� 0,��3�-�8
%,� 0,�3��� � %�, $��-, %� 3�� ���6�$-� )� %,� 3�%�3, %,���
4-$�%� , �� 5$�0� %� ,(�44���, %,� 0,�3��� � %�, $��-, %�
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*�4-� �� %,3$,-� %,� ����4-$� %,��, 2����&, �� ��+� %,�
�� %�3,(1$, ����� $,
�4-$�-� ���� 	�$-, %,� 3��-� ��
�+ %�3,(1$, ����� $,
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��� �� ����
3�� �� >���, %�� �F 
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�6�
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%,3$,-�.�,

, �� ��
��� �+++� �� ���=

*�4-� �� %,3$,-�.�,
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�! 
��
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���$, 2��&����(,�-�� ,8 %�5,4�
%���6�%,4���, 3�(5�,-� %,� 5,$4����, ���6�44,(1�,� 4��.
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�� �+��� �� !+�� 3��0,$.
-�-� 3�� (�%�2�3�&����� �,��� �,

, �� ��
��� �+���
�� ���� $,3��-, ��$(, 5,$ �� 4�4-,(�&���, %� -����,
4�-��&���� %�5,�%,�-� %� (��3�-� � �$$,
���$, 2��&��.
��(,�-� %,
�� �22�3� 2����&��$�=
*�4-� �� �,

, �) �--�1$, �+�)� �� )+�=
*�4-� �� %,3$,-� �,
�4��-�0� � 2,11$��� �++�� �� �+=
*�4-� �� %,3$,-� %,� ����4-,$� %,��, 2����&, �� ��+�

%,� �� %�3,(1$, ����� $,
�4-$�-� ���� 	�$-, %,� 3��-� ��
�+ %�3,(1$, ����� $,
�4-$� �� ) 2����&,� 2�
��� �� ����
3�� �� >���, %�� �F 
,����� ���� ,8 4-�-� $,4� ,4,3�-�0�
�6�
,�&�� %,� -,$$�-�$��� 5$,0�4-� %���6�$-� �! %,� %,3$,-�
�,
�4��-�0� �� ��
��� �+++� �� ���=
*�4-� �6�$-� �� %,� %,3$,-� �,
�4��-�0� �� 
,����� �����

�� ��� 5�11��3�-� �,��� /������� 0++���� � �� )� %,�
) (�$&� ����� 37, 7� (�%�2�3�-� 
�� �$-�3��� � , � %,�
3�-�-� %,3$,-�.�,

, �� !+�/�+��� 4��3,�%� 37, 5$�(�
%,��6,(�44���, %,� %,3$,-� %� �33,$-�(,�-� %,� 5,$��%�
%� (��3�-� � �$$,
���$, 2��&����(,�-� %,��6�22�3��
�33�$$, 0,$�2�3�$, 37, �� 4-,44� ��� 4�� %�5,4� %�
%�42��&���� �$
���&&�-�0, %,��6�((���4-$�&���, 2����.
&��$�� , 4,�-�$, �� $�
��$%� ��  �$��-, 5,$ �� 3��-$�.
1�,�-,=
*�4-� �� %�45�4�&���, %,��6�
,�&�� %,� -,$$�-�$�� %,�

�� �5$��, ����� 5$�-� �� �/������ 37, ��%�0�%�� �,���
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�� �22�3� %,��6�
,�&��=
*�4-� �� %�45�4�&���, �$
���&&�-�0� �� �! %,� �� 2,1.
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,�&��
%,� -,$$�-�$�� %�45��, �6�--�0�&���,� � 2�$ %�-� %��
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, �� 
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�� �+��� �� !+�� 3��0,$.
-�-�� 3�� (�%�2�3�&����� �,��� �,

, �� ��
��� �+���
�� ���� $,3��-, ��$(� 5,$ �� 4�4-,(�&���, %� -����,
4�-��&���� %�5,�%,�-� %� (��3�-� � �$$,
���$, 2��&��.
��(,�-� %,
�� �22�3� 2����&��$�=
*�4-� �� �,

, �) �--�1$, �+�)� �� )+�=
*�4-� �� %,3$,-� %,� ����4-$� %,��, 2����&, �� ��+� %,�

�� %�3,(1$, ����� $,
�4-$�-� ���� 	�$-, %,� 3��-� ��
�+ %�3,(1$, ����� $,
�4-$� �� ) 2����&,� 2�
��� �� ����
3�� 3�� � %,3�$$,$, %�� �F 
,����� ���� ,8 4-�-� $,4� ,4,.
3�-�0� �6�
,�&�� %,� -,$$�-�$��� 5$,0�4-� %���6�$-� �! %,�
%,3$,-� �,
�4��-�0� �� ��
��� �+++� �� ���=

*�4-� �6�$-� +� 3�((� �� %,� $,
���(,�-� %� �((���.
4-$�&���, %,��6�
,�&�� %,� -,$$�-�$�� �55$�0�-� %��
3�(�-�-� %�$,--�0� �,��� 4,%�-� %,� ) %�3,(1$, ����
3�� �� >���, ,8 4-�-� %�45�4-�? 9
�--, �, 4-$�--�$,� � $����
, 5�-,$� , �, 5$�3,%�$, 5$,3,%,�-,(,�-, �� ,44,$, �,�
��5�$-�(,�-� %,� -,$$�-�$�� ���� %�-� %� ,�-$�-� ��
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�, %�45�4�&���� %� 3�� �� 5$,3,%,�-, �$-� �� 3�((� �:=

*�4-� �6�$-� �� %,� %,3$,-� �,
�4��-�0� �� 
,����� �����
�� ��� 5�11��3�-� �,��� /������� 0++���� � �� )� %,�
) (�$&� ����� 37, 7� (�%�2�3�-� 
�� �$-�3��� � , � %,�
3�-�-� %,3$,-�.�,

, �� !+�/�+��� 4��3,�%� 37, 5$�(�
%,��6,(�44���, %,� %,3$,-� %� �33,$-�(,�-� %,� 5,$��%�
%� (��3�-� � �$$,
���$, 2��&����(,�-� %,��6�22�3��
�33�$$, 0,$�2�3�$, 37, �� 4-,44� ��� 4�� %�5,4� %�
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&��$�� , 4,�-�$, �� $�
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%,� �,$0�&�� %� 5�11��3�-�8 �((�1����$, %� ��4-� 5,$ ��

��$�� �� 
��
�� ���� , 37, �� 4-,44� ,8 %� �--$�1��$4�
���6�%,4���, %� 5�$-, %,� 5,$4����, ���� 43��5,$� ��%,--�
5,$ �� 
��$�� �� 
��
�� ����=

��-,��-� 37, �� 4�,45�4-� 3��4� %,0, 3��4�%,$�$4�
,0,�-� %� 3�$�--,$, ,33,&�����, ��� $�3��%�3�1��, �
%�42��&���� �$
���&&�-�0, %,��6�22�3��=

*�4-� �� 5�$,$, 2�0�$,0��, %,��6�22�3�� %,� 
�$��-, %,�
3��-$�1�,�-, ,45$,44� 3�� ��-� %�-�-� + ��
��� �����
5$�-� �� �!�/����=

�,-,$(���?

�B �33,$-�-� �� 5,$��%� %� (��3�-� 2��&����(,�-� %,�
�,5�$-� 3�-�4-��, , %,� �,$0�&�� %� �33,--�&���, %,��,
2�$(���-�8 %,� �,$0�&�� %� 5�11��3�-�8 �((�1����$, %�
��4-� �� %�-� �� 
��
�� �����

�� 5$,4,�-, %,3$,-� 0,$$�8 5�11��3�-� �,��� /�������
0++���� � %,��� �,5�11��3� �-�������

��4-�� �� ��
��� ����
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�
 
	!!� �8� ����%� ��
"���� .$&$�$
 �� ��!��� :���� ,����!�%� �� ���	 .$&$�$;
�!!� .�%�	��� ,����!�%� 
� ����%� �"���	 %��&$ �  $!$
 �� �	 ���$
#�$�00,%�(,�-� �� ��+�'�

�6��
�
�
� ��� ��*� ����"�
����� ����	���"���� ���*�
�
� �� ��
������ 	����

�*�

*�4-� �� -,4-� ���3� %,��, �,

� 4���6,4,$3�&�� %,��, �44�.
3�$�&���� 5$�0�-,� �55$�0�-� 3�� %,3$,-� %,� �$,4�%,�-,
%,��� �,5�11��3� �� 2,11$��� �+)+� �� !!+� , �, 4�33,4.
4�0, %�45�4�&���� (�%�2�3�-�0, ,% ��-,
$�-�0,=

*�4-� �� $,
���(,�-� �55$�0�-� 3�� $,
�� %,3$,-�
! 
,����� �+�)� �� ��� , �, 4�33,44�0, %�45�4�&���� (�%�.
2�3�-�0, ,% ��-,
$�-�0,=

*�4-� �� �,

, �� �
�4-� �+��� �� )��� $,3��-, ��
$�2�$(� %,��� 0�
����&� 4���, �44�3�$�&����� , �, 4�33,4.
4�0, %�45�4�&���� (�%�2�3�-�0, , ��-,
$�-�0,=

*�4-� �� %,3$,-� �,
�4��-�0� �� (�$&� �++)� �� ��)� %�
�--��&���, %,��� %�$,--�0� �� +�/!+/	�� �� (�-,$�� %�
�44�3�$�&���, %�$,--� %�0,$4� %���6�44�3�$�&���, 4����
0�-�� , �, 4�33,44�0, %�45�4�&���� (�%�2�3�-�0, ,% ��-,.

$�-�0,= �� 5�$-�3���$, �6�$-� �) 37, 5$,0,%, �6�55$�0�.
&���, %,��, %,��1,$�&���� , %,��, 3��%�&���� $,��-�0, ��
-$�42,$�(,�-� 0����-�$�� %� -�--� � %� 5�$-, %,� 5�$-�2�.

��� �44�3�$�-�0�=

*�4-� �� %,3$,-� �,
�4��-�0� �� �--�1$, �++�� �� ����
$,3��-, $�&������&&�&���, %,��, ��$(, 3��3,$�,�-�
�6�4-�-�-� 5,$ �� 0�
����&� 4���, �44�3�$�&���� 5$�0�-, ,
%� ��-,$,44, 3���,--�0�� ,% �� 5�$-�3���$,� �6�$-� !� 3�((�
�+� (�%�2�3�-�0� %,��6�$-� �!� 3�((� � �,--� �2 %,��� �,

,
�� )��/�+��� �� >���, 5$,0,%, 37, �� 	��4�
��� %,��6�4-�-�.
-� ,45$�(� �� 5$�5$�� 5�$,$,� -$� �6��-$�� �� (�-,$�� %�
-$�42,$�(,�-� %� 5�$-�2�
�� -$� �(5$,4, ��-�$�&&�-,
���6,4,$3�&�� %,��6�--�0�-�8 �44�3�$�-�0�=

*�4-� �� 5$�00,%�(,�-� ��*�� �� ��!� %,� �� ��0,(.
1$, �++� %� ��-�$�&&�&���, ���6,4,$3�&�� %,��6�--�0�-�8 �44�.
3�$�-�0� , $��44�3�$�-�0� �,� $�(� %���� $���43��-� ����

�� �44�3�$�&���� ��5��� #
��8 	�--���3� �� ���,
��5���' 3�� 4,%, �� ������� 0�� ��0,$�
� !=

*�4-� �� %,3$,-� (���4-,$���, �� %�-� �� ��0,(1$, �+�!
%� $�3�
��&���, %,��, ��-�$�&&�&���� ���6,4,$3�&�� %,��6�-.
-�0�-�8 �44�3�$�-�0� , $��44�3�$�-�0� 
��8 $���43��-, ����
��3�,-�8 	�--���3� %� �44�3�$�&���, 3��5� ��$��� 3�� 4,%,
�� *,$���� ���
�%�
, 	��
$��%, �� ,% � 4�33,44�0�
5$�00,%�(,�-� ��-�$�&&�-�0�=

*�4-� �� 0,$1��, %,��6�44,(1�,� �$%���$�� %,� 4�3� %�

�� �44�3�$�&���� ��5��� �� %�-� � ��0,(1$, ���� ,
>�,��� %,� 3��4�
��� %� �((���4-$�&���, %,��� (,%,4�(�
�(5$,4� %,� �� (�$&� ����� ���37,@ �� 0,$1��, %,� 3��4�.

��� %� �((���4-$�&���, %,��� ��3�,-�8 	�--���3� %� �44�.
3�$�&���, 3��5� � $��� �� %�-� �) (�$&� ����� 3��3,$.
�,�-� �� -$�42,$�(,�-� 5�$&���, %,� 5�$-�2�
��� �44�3�$�.
-�0�� �--��-� -$�(�-, 3,44���, %� $�(� %6�&�,�%�� %,���

�� �44�3�$�&���� ��5��� ���� ��3�,-�8 	�--���3� %�
�44�3�$�&���, 3��5� � $���=

*�4-� �6�4-��&� 5$,4,�-�-� �� %�-� �� �5$��, ���� %����

�� �44�3�$�&���� ��5��� ��-,4� �% �--,�,$, �6�55$�0�.
&���,� �� 4,�4� %,��6�$-� �) %,� %,3$,-� �,
�4��-�0�
�� (�$&� �++)� �� ��)� %,��, %,��1,$�&���� , %,��, 3��%�.
&���� %,� 5$,%,--� -$�42,$�(,�-� 5�$&���, %,� 5�$-�2�
���
�44�3�$�-�0�=

*�4-� �6�--� %� 3,44���, %,� $�(� %6�&�,�%� 4�--�.
43$�--� %���, 5�$-� �� %�-� �� (�

�� ����� �� 3�� ,22�3�.
3�� ,8 4�--�5�4-� ���� 3��%�&���, 4�45,�4�0� %,��6�55$�.
0�&���, %� 5�$-, %,��6��*�� �� 4,�4� %,��6�$-� �) %,�
%,3$,-� �,
�4��-�0� �� ��)/+) , %,3�$$,$�8 %�� 5$�(�

��$�� %,� (,4, 4�33,44�0� ���� %�-� %� 5�11��3�&���,
%,� 4�%%,--� 5$�00,%�(,�-� %� �55$�0�&���, �,��� /���
����� 0++���� � %,��� �,5�11��3� �-������=

���,0�-� 37, �6�5,$�&���, %� -$�42,$�(,�-� �� ,4�(, ,
�, $,��-�0, (�%���-�8 4�%%�42��� �, 3��%�&���� 5�4-, %����
��$(�-�0� %� 4,--�$, 5,$ �� -�-,�� %,
�� �44�3�$�-� , %,�
%���,

��-�=

��-,��-� 37, 5,$ �� -$�42,$�(,�-� 5�$&���, %� 5�$-�2�.

��� �� >�,4-���, $�3�$$��� � 5$,4�55�4-� %� 3��
���6�$-� �) %,� %,3$,-� �,
�4��-�0� �� ��)/�++)=

*�4-� �� 5�$,$, 2�0�$,0��, ,45$,44� %�� 	��4�
���
%,��6�4-�-�-� �,��� 4,%�-� %,� �� ��
��� ����=

��45��,?

�$-� ��

���� �55$�0�-,� �� 4,�4� %,��6�$-� �) %,� %,3$,-� �,
�.
4��-�0� �� (�$&� �++)� �� ��)� �, %,��1,$�&���� , �, 3��.
%�&���� $�
��$%��-� �� -$�42,$�(,�-� 5�$&���, %,� 5�$-�.
2�
��� �44�3�$�-�0�� �--��-� -$�(�-, 3,44���, %� $�(�
%6�&�,�%�� %,��� 
�� �44�3�$�&���� ��5��� 3�� 4,%, ��
������ ���� ��3�,-�8 	�--���3� %� �44�3�$�&���, 3��5�
� $���� 3�� 4,%, �� *,$����

�$-� ��

�� -$�42,$�(,�-� 5�$&���, %� 5�$-�2�
��� %� 3��
���6�$-� �� 4,3��%� >���-� 5$,0�4-� �,��6�--� %� 3,44���,
%,� �� (�

�� ����� 7� ,22,--� %�� 5$�(� 
��$�� %,�
(,4, 4�33,44�0� ���� %�-� %� 5�11��3�&���, %,� 5$,4,�-,
5$�00,%�(,�-� �,��� /������� 0++���� � %,��� �,5�1.
1��3� �-�������

��(�� �! ��
��� ����
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�44� 
��$����,$� %� $�2,$�(,�-� $��,0�-� � -�-��� ��%�3�-�0� 4,3��%�
�, 5$�3,%�$, 4-�1���-, �,��6�(1�-� %,� ��4-,(� ,�$�5,� %,��, ���37,
3,�-$��� , 3�(���3�-� %���� ���3� %6�-����� �%�--�1���� 2$� �6��-$�� %���,
�((���4-$�&���� 4-�-��� �� 4,�4� %,� %,3$,-� %,� �$,4�%,�-, %,���
�,5�11��3� �) %�3,(1$, ����� �� !���

(��	� �� ��
��
 ��  ,� �
 ����

�����$� ��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���!��
L,� 
��55��,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����+�
	�$��� %��,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!���
��$� �-,$���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ����!!�
	�$��� 40,%,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � +�����
<$��3� 40�&&,$� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��)!+!
	�$��� �4���%,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���)�
	�$��� ��$0,
,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � �����)
�,0 1��
�$� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��+!��
��$� 3�5$��-� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��)��)!
	�$��� 3,3� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���+��
	�$��� ,4-��, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �)��!��
<��$��� ��
7,$,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � ������
��-�4 ��-���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!)��
��- �,--��, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���)�!
��$� (��-,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!���
"��-M 5���33� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !���!�
�,� $�(,�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���!�

���,$� 4��0,�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!�����
	�$��� 4��0�33� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !����)
��$� -�$3� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �������
�����$� ��4-$������ � � � � � � � � � � � � � � � � � � � � � � � � � � � ������
�����$� 3���%,4, � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��)+��
�����$� %� H��
 N��
 � � � � � � � � � � � � � � � � � � � � � � � � ��+��)
�����$� �,�&,���%,4, � � � � � � � � � � � � � � � � � � � � � � � � � � ��+)��
�����$� %� ���
�5�$, � � � � � � � � � � � � � � � � � � � � � � � � � � ����)�
O�� 4�%3�$,��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!��!)
���% 4�%�2$�3��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!���

)�8� ; 
�--, �, >��-�&���� 4��� %,-,$(���-, �� ���-�8 %� 0���-� ,4-,$�
3��-$� � ,�$�� �� $�3�$%� 37, �� -�44� �$$,0�3�1��, %� 3��0,$4���,
����/���� ,8 	
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���� �""�"���	 �!!(���������	 �� %���	 %�� 
� �!%��	
%��1	"���� 
	!!� �&	%��!���� �	
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5�� 2�% .$�6$
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 ����

�

,--�? �--$�1�&���, ,/� 3��2,$(� ���0� ��(,$� %� ����	�

���, 4�--� ��%�3�-, 3��2,&���� %,� (,%�3����� 5,$ �4� 0,-,$���$��
0,�
��� �$� �--$�1��-� ,/� 3��2,$(�-� � ���0� ��(,$� %� ��-�$�&&�.
&���, ���6�((�44���, �� 3�((,$3�� � 2���3� %� 3��43��� ��%�3�-�?

%�--� -�-���$, ����	�? *����	 ���� �,$, �0,��, . ���) �.������
. ��)�� 	�$$�4 #<$��3��'?
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����	 43�-��� � 1��4-,$ � 35$ ��) (
 . ����	�
�� ���)�)��!=

	��
����	 43�-��� � 1��4-,$ � 35$ � (
 . ����	�
�� ���)�)���=

	��
����	 43�-��� � 1��4-,$ � 35$ � (
 . ����	�
�� ���)�)���=

�����
���� 4�337,--� %� ) P
 . ����	� �� ���)����+=

�����"���� 2��3��, �)� (� . ����	� �� ���)�����=

�����"���� 2��3��, )� (� . ����	� �� ���)����+�

�� 4�3�,-�8 -�-���$, ,8 ��-�$�&&�-� �% �55�$-�$, �
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